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contains 200 multiple-choice questions (four options
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g@ : Section-A (Q. No. 51 t0 85) |
The compound that will undergo Sy' reaction
51 ith the fastest rate is

v (" © @ur

CH,
~J

@O o O
-

The highest numberg( helium atoms is in

l_n}
52 ) 4 uof helium
@2) 48 of helium 7

2.271098 L of hielium at STP
4 mql of helium
g I which of the l‘o{]ﬁ‘éwing processes entropy

= increases?' e

A A liquid evapordtes to vapour.

B. Temperature of @lcrystalline solid lowered
from 130 K to 0K _

. Clyy ™2 iy . r
Ehoos%[ﬁ!ne correé%)answer from the options given

pelow: : _
(1 AB and D @
@) CandD (@
54 Intramolecular hyd(r%%}en bonding is present in
. N B .
) Ho/g 87
NO; {4}
® @/ e

HO
(3) HF

NO,
L, &
OH i0

A,CandD "
Aand C

55  The energy of an qgctron in the ground state .

(n=1) for He* ion is=x J, then that for an electron
inn =2 state for Bé>* jon in J is :

A
(1) —% B(2) —4x

o
«.,“E :

6 The E° value for th%_%Anj*'flvszr couple is more
positive than that of€r3+/Cr2* or Fe3*/Fe?* due

(3) —g—x

to change of 00

1) d*to d? configuifation
d4 to d5 configugation
d3 to d5 confignration

4) 5o q¢ configuration

Ré . ,
Bengali+English | | 13

52

57

53

56

. =iEAE (J) A6 7id

1 1 5 R
LA ot it S, ) i spmer .

n <:>—Hr (/, @r“r

CH,y -
(3) @Aﬂr (4) O/\m ‘

AN Seana Risnm !4—:;::11 (BN IR T2 (A7
(1) 4 umfEnm "’
(2) 4 g -
(3) a@ma 5191 8 GG 2.271098 L iZfRzns

(4) 4 cna Byam

d6a (@1e swafore a%’é’m gt stz ?

A, axit ol awﬂiq%zﬁ%n

B. @i si6 spyiard ol 130 K e
0K o @ s 23

C. 2NaHCOj;(,)—>NayCO3(5 + COyg) + HyO(g)

D.  Clg =2 Clg)

s zna fHaeef e a5 Yo FHee Fa

(1) A,BuasD (2 A,Caa:D

(3') Cugs D Zg.) A uaz C

TIRAIHS FBLTICETE FoHe) TOHE S

NOLD
0 I

NO, o
0 QY™

(3) HF o

NO;  yq
) Q:OH o

gitwod w" (n=1) T+ onswra Ruashea =R
—x J | n=2 % Bef fonntea waf® Rraser _

i
X

) -3 (2) —-4x
4 1
@ g% W -x

Cr3*/Cr2t atFe3*/F ez%% etetist Mn3*/Mn2* spstteia
E° w6l oifiaod seisid] fji AiEEsEE @l of BIAtH
(1) d° cata d2 Fenst{ 3

(2) d4 et dS et

3) 3t d3 Rt
(4) - d5 caww d4 R
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A compound with a molecular formula of Cglly,
has two tertiary carbons. Its IUPAC name is:
2-mcthylpentane
@ 2. 3-dimethylbutane
) 2.2-dimecthylbutane
() n-hexane

Given below are two statements:

Statement I : The boiling point of three isomeric
pentanes follows the order

n-pentane > isopentane > neopentane
Statement IT : When branching increases, the
molecule attains a shape of sphere. This results
in smaller surface area for contact, due to which
the intermolecular forces between the spherical
mqleculcs are weak, thereby lowering the boiling
point,

In the light of the above statements, choose the
most appropriate answer from the options given
below:

(1
@)
3)

Identify the'correc‘; reagents that would bring
“about the following transformation.

{ )—cH,-cu=cu, - - |
{_)—cH,-cH, -cHO

BH,

Both Statement I and Statement II are
incorrect.

Statement I is correct but Statement II is
incorrect.’ \
Statement I is incorrect but Statement 11 is

correct. .
Both Statement I and Statement Il are correct.

@ o
(ii)
(iii)

2. ®
(i1)

/e
H,0, / OH
PCC '
BHj;

[S]

H202/ OH o
(iii) alk. KMnO,
Gv) H30e
(i) 'H,O/H*
(i) PCC -
4) (i) H,OH*

(ii) CrO,

3

57

39

14

Collyg MALEE S 15121 w4 fB i gin
GONLE Al deaies] ad TUPAC #1131 241

(1 2-f NEIEL A (e

) 2 3o BBt it
’(3) 2.2-w B IHANIB A e
(4) n-czestat

e g5 P14fs Fres:

fefs 1 Roal® soticgs ciecbiard sydati=s o 4
efiaer 4 Ol A

N-Gs1ESe > SRS ES > Rigisiasa]

feafs 11 : =aistel A1, a4i® @] ollalird .,
y1gal HL 9 WLa AT Gleld (SHhQwel Bl 313 7.
GHEFIHIS DRI WA ABAINTHS 49 5 53 .
spoeIs e 2l

Oseaa fagfs sigead oS e dng Frapesip
tae 1%+ Tod fhiee 4.

(1) Fafs [ a3z Pl [19ems ge

(2) Fafs [ ey FEis 1T ge

(3) Pefs 1 gat Prg Rl 11 5

(4) fafs I aas Fgls 11 Yoz s+

I

At dwsstad Selt AT AHas Ayz Bise +:

D— CH,-CH=CH, >
O— CH, - CH, - CHO

(1) () BH,

Gi) 1,0,/Gh
(iii) PCC

) () BH,
G 1,0,/
(iii) @ KMnO,
(iv) H,0®

3) (i) H,OH*
(ii) PCC

@) () H,oH*
(i) CrO,
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which plot of In k vg JI- is consistent with
Arrhenius equation?

N
= =
m L @ F
R 15
1 1
= -
@ :E" 1 ) — T
T T T
61 The most stable carbocation among the following
is:
CH,
& ¢n
SN 7
(1) cH, cH Ly
&,
o [
CHs
CH,
e () HJC/\gH CH;
ist I with List II.
$ Mat](_:,]i]slt‘l[s ’ List IL
(Pmcess) (Conditions)
A. Isothermal . No heat exchange
process _ '
B. Isochoric [I. Carried outat
process constant temperature
C. Isobaric [1I. Carried out at
process _ constant volume
D. Adiabatic V. Carried out at
process constant pressure
Choose the correct answer from the options given
below:
(1) A-1v, B-II, C-I11, D-I
2) A, B, C-lII, D-IV
A, B111, C-1V, D-I
Y A-IV, B-111, C-I1, D-I
15

A BengalitEnglish |

: 2024 Where Aspiration Meets Success
60 Ink =y + adt e Enfbei® enans2ons s
' Hiom 31&1[{5,1,{?
il : L
. & 5
o @I
- =
N o
E :
3 @ =
T I
61 ANesa w1k P FENFBINE 26
CH;3
. o
C g
49) CH; "CH, &u,
' ®
o [ -t
CHy
62 oif# [a 7S syruftog el oif#t 1l @ 7S ~yfE
O] l
wifti#t 1 -:slif‘.-ml
i t5)
A (P
A fnm#a q'wﬂrt:i . oustd fkm ax Al
B. HINHEA I RifeS oA
- SAuyf o TN
C. wmsil 1L RS SINeE
. a8 Hes(ifho TN
D. o) V. Rif®S st
. susf5 Wesfhio ’N
Qs o Al W sy O Rraned 3
(D A-1V, B-Il, C-Iil, D-I
2) AL B-II, C-I11, D-1V
3) A-lL B-lII, C-1V, g—}
- -111, C-11, D-
S [ Contd-
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63 Match List T with List 11, 63 ot [ ad st Gl 1] o
List 1 (Complex) List 11 (Type of ot | ST
) - i.“itll‘l'l(‘l'ism} ("ﬂﬂ‘mﬂ"ﬂﬂ ) (H.ﬂr"j_ﬁm ?T‘H?-,,
A [ Co(Ny) (NO,) |c . Solvate
L 3s . ] 2 ' . A. [C"(N“ft)s(m)z)l“z L a4 5y,
iIsomerism ’ 3
B. [Co(nn,) (so, )] Br Il. Linkage B. [C"(M 1), (80, )1 Br L ey,
_ isomerism
_ '. C. [CO(NFI3)6] [Cr(CN )6} M1 Spsporen
& ﬂc"(“‘*s)ﬁ] [cr(eN)] L. Tonization
. . 3o
) isomerism
1 :

D; -CC_'(H2O)6]C13 IV. Coordination D. [CO(HZO)61C3 V. ey Aotz
Ch , isomerism Ao v P11 (10 515 Taa Ry .
belgt‘ietw correct answer from the options given (1) A-L B-II, C-IV, D-I
(1) A-L, BI11, C-1V, D-IT (2) A-I,B-IV, C-I1I, D-I1

(2 A, BV, C-I11, D-11 (3) A-II, B-IV, C-III, D-1
(3)  A-IL, B-1V, C-I1I, D-1 (4) A-II, B-III, C-1V, D-I
@ A-IL, B-I1, C-1V, D-1
64 1 gram of sodium hydroxide was treat d with 64 25mL 0.75 M HCI 54t1 1| g muifvsyy 213713
. 25mL of0.75 MHCl solution, the mass 2: so;;r - PP G AR P 2Rz Pl
- hydroxide left unreacted is equal to um A4 (0F Presicas
250mg " (2) Zeromg (D) 250mg @) i mg
%) 200 mg (4)) 750 mg (3) 200 mg 4) 750 mg

65 Which reaction is NOT a redox reaction?

_ 65 e Pasafs srme-Riemae Rk ax 0

1 IEE

(2; i{ff ](% -:22_1)-1(321 b () 2KCI0;+1, - 2Ki0; +
BaCl, +Na,SO, — BaSO, + 2 NaCl (2) H,+Cl, - 2 Hl

(4 Zn+CuSO, - ZnSO, + Cu’ (3) BaCl, +Na,SO, — Baso, +2 Nac|

(4) Zn+CuSO, > ZnSO, + Cu

66  For the reaction 2A=B+C, Kc =4x1073, At a- e

given time, the composition of reaction mixture | 6  2A=B+C Rifsuifsa K =4x107| coran s

is : [A] = [B] =[c] ='2X 10—3M . ' Bt HATH ﬁml-mﬂ(‘ia W%’iﬁi

Then, which of the following is correct? [A]= [B]=[C]=2x10"3M.

(1) -Reaction has a tendency to go in forward -
direction. OIxte Aleba @FreEls ads 2

@ Reaction has a tendency to go in backward (D) Rl stsgad zam aaer e
direction. ' '

i (2) PlplSE s1v6104G = stet01 o0
(3) Reaction has gone to completion in forward

direction (3) RS guad e asyer aeasl
(4) Reaction is at equilibrium. (4)  REnis st

R6_Bengali+English ]

16 ' | Contd..
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A. NH;3; I

D. SFs

69

0

n

Rﬁ‘Bengali'*'English ]

. orrect answer from the options given below:

Match List I with List 11,
List I List 11

(Shape/geometry)

Trigonal Pyramidal

II.  Square Planar

. Octahedral

IV.  Square Pyramidal

Choose the correct answer from the options given

pelow:
(1) A-ILB-IV, C-IIlL, DI

@2) AL BV, C-, D1l
) A-ll, B-IIL, C-IV, D-I

3
A-l, B-1V, C-II, D-111

On heating, some solid substances change from
solid to vapour state without passing through
liquid state. The technique used for the

urification of such solid substances based on the

ove principle is known as
Sublimation (2) Distillation
Chromatography (4) Crystallization

‘In which of the following equilibria, Kp and K,
are NOT equal?” s

(1) Hygpt g = 2Hlg

@) CO@ +HaO@ = COxg + Hyg)

3) 2 BrCl(g) — Bl’z(g} + C[2(g)

PClsp = PClyg * Clag)

Among Group 16 elements, which ori_e does NOT
~ show —2 oxidation state?

@ Se (2) Te

Po- 4 O
Given below are two statements:
Statement I : The boiling point of hydrides of
Group 16 elements follow the order
H,0>H,Te > H,Se > H,S.
Statement II : On the basis of molecular mass,
H,0 is expected to have lower boiling point than
the other members of the group but due to the
presence of extensive H-bonding in H,O, it has
higher boiling point. . '
In the light of the above statements, choose the

(1) Both Statement I and Statement II are false.
(? gtatement I is true but Statement Il is false.
@ Btatement lis fa_lse but Statement II is true.

oth Statement I and Statement II are true.

17

67

69

70

71

CHEES I |
( L)1)
A. NI'J |_

B. BrF; 1.
C. XEF4
D. SFg

Gl 1 ad st Gifda 1] arme
siftsr 11

(M3 / eaniPafts)
fiotblitrn
Praifierpits
G ALRGIB14
BIEBGa

151 Panfihrorgits
Ane 27T Aaests)fén tanias 15+ Yo RiAieer #4:
(1) A-IIL, B-1V, C-III, D-1

(2) A-II, B-1V, C-I, D-1I
( A-II, B-III, C-1V, D-1

4) A-l, B-1V, C-II, D-1II

oI5t flitel g 3156 staiar oas o o Proa i
oAl e d1eNy oy Ao Zul 9 #3E
stritaf At R S o3 SRaRs A14mo 23 ord
Moa fofs ot
(1) Eenos
(3) HortEryE

(2) =io=
(4) wwenisie

Mea e Arar Al K a3 Ko a9 w1 a3 a3 2
(1) Hyg) +lpg = 2 Hlg

@) COw +HyO) = COxg * Hag)

(3) 2BrClg) = Bryg + Clz(g)

(4) PCls = PClyg + Clyg

~ 26%51-16 tNEsfEra WeRr @IS — 2 @ider a0 N w7

2) Te
4 O

(1) Se
(3) Po

s it A4l reun =@ ¢

R 12 2651 16 cilarjfry WRAYIRY (T AYZ Qv
FPOHAISH (HIN

H,0 > H,Te > H,Se > H,S @ wiepstaer 36l
ARSI : wicfis widd RfEo e FpoEISF st
SfEtEr AR Porelinl 3 ZBN JONRG By 956
H-aael) 118 wrald Ue60d 3poeIsh Juaiel
GotiEd FR APRA WEE A6 AT Ppesreyfa
(A AdE Tod Ridies a5d: -

(1) Prgfts [ @as g 119wy gel

(2) fayfs 1 a1 g YR 1T el

(3) fuyfs I gar frg Rl 1ol

(4) s 1 ez Pgis 11 QwwR s+
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73

74

75

76 -

(Conversion)

A.
B-

C.

(;iivcu below are lWo stae
bml!:mcm L: Aniline Joc
rafts alkylation reag|
Stntcpwnl I Aniline
: :ll;l'lc|_s)’lll|1csis.
(‘I:a;!;-‘::c: l:%?s‘l\:-ﬂ.-l :"‘ above statements, Choose tiis
() Beansyver from the options given below:
Statement | ang Statement Il are false.

2 N . ' .
(2) b-::aqle‘"“-‘m I'is correct but Statement II is

N lst}l?éemem l'is incorrect but Statement II is

Both Statemen | and Statement I1 are true.
Given below

menls: L
does not undergo Friedel-
ion,

cannot be prepared through

are two statements :

Statement I : Both [CO(N_H3 )6 ]3+ and [C0F6]3_

complexes are octahedral but differ in their
magnetic behaviour.

3+ -
Statement 1T : [CO(NH3)6} is diamagnetic

whereas C0F6:|3_

In the light of the
correct answer fro

(1

iS paramagnetic.

abclwe statements, choose the
m the options given below:
SBoth Statem_ent I and Statement IT are false.
Sta’tement L is true but Statement 11 is false.
Btatement I is false but Statement 11 is true.
oth Statement [ and Statement I1 are true.

Fehling’s solution ‘A’ is
8% alkalll ne c0p?er sulphate
alkaline solution of sod; tassi
3 tartrate (Rochelle’s salt) i potassium
Henry’s law constant (K,,) values of three
gases (A, B, C) in water areHl)

aqueous sodium citrate
aqueous copper sulphate
35 kbar, respectively. The solubility of these gases

water follow the order:
B>C>A (2) A>C>B
A>B>C 4) B>A>C

Match List I with List IL

List I List Il

(Number of
Faraday required)
I. 3F

IL.

1 mol of H,O to O,
1 mol of MnO, to

Mn2*
1.5 mol of Ca from 1F
molten CaCl '
D. 1 mol of FeGto Fe,0, IV. SF
Choose the correct answer from the options given

below:
(1) A-I, B-1V, C-1, D-I1
(2) A-II, B-II, C-I, D-IV

A-111, B-1V, C-11, D-I

A-11, B-1V, C-1, D-I1I

2F

I11.

R6_Bengali+English |

18

72

73

74

75

76

(I8 )

Nt f]“:’ [:1.]_'(5 42105, © . .

f4fts | + o 1fer el flptitsal-dlspaal "JIII«I"I'-I::_L,.H,,I B,
nfal v’!f.'," 6"[

g;{q [T ¢ Anfaeaan Mz simannsn amiig,, -

adr a1 @l ] ’

':';‘If.el'el fagfts sgtzA Alaiid N was i By

(i 3154 Gz b b4 i

(1) Faafl [ age fa41t 11 w2z, g

(2) Pagfs [ s1f5# 7 1416 [ ga

(3) P [ g=1 iy fafts 11 s1f54

(4) faefs [ 94z frgf 11 w3, 354

s it Pl A

3+ ) 3— -
P : [CO(NH3)6] 42 [COFﬁJ 93 %,
wifel (Ao 1w 26 aA1 (61 H5foie o,

Pt 11 : [co(NH3)6]3+

3-

Romwiteain By [ CoF, | =g
Yoo P e I A6 BT oy
2 AP+ TS Ree $:

(1) R 1 aas P 11 Swwa ga
(2) Piafs 13 g g 11 gt

(3) Rigfs | gl f’-Fg! 49 11 5

(4) Fifs [ gaz Pl 11 TetnR afds

wRisead B4 ‘A’ =E
(1) swra #5114 AT
(2) wnfvamm SEIRHT BIAEBA WY fo
(Ariteta =1401)
(3) Mm@ Al e
4) @y FA1 AGITS

ore Roaifs smewa (A, B, C) wxeifid 9o s (K
NAIFA 145, 2x10~5 @3z 35 kbarl A% e
FANHOT (4 FH DAPHT ZA:
(1) B>C>A (2) A>C>B
3) A>B>C (49) B>A>C
i1 [ g s o1t 11 oieits
GifEs | oiff+ 11
(= s1frste suany
. PRHTSTE)
1 &8t o I. 3F
Sfcens sty
1 carsi MnO;
a3 Mn?* o
sfHads
sifios CaCl, cats
1.5 twi= Ca
1 o= FeO
Fey05 (o sifada
a6 217a fyaesisif (i sif5+ Sod Riise 4
(1) A-IIL B-1V, C-1, D-lI
%2) A-Il, B-II, C-I, D-1V
3) A-lll, B-1V, C-I1, D-I
(4) A-II, B-1V, C-1, D-111

A,

B.

I. 2F

. 1IF

IV. 5F
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78

79

80

@
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)
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Match List I with Lig n

List I List 1
st11
Quantum Number Information Provided
Ay shape of orbiaj
B. s © SIZe of orbifg)
c. 1/ 1. oricntation of
orbital
pD. n IV, orientation of spin
Choose the correct answe f,Ofclccl oot
pen r{rom the options given
A-11, B-1V, C-1, pJ;
A-111L, B-1V, C-[1, D]
(3) A-IL B-1, C-1v, Dy
(4) A-L B-lIL, C-II, D1y
«Spin only’ magnetic mon i i
of}:he following fons?. 1ent 1s same for which
A. TSt T B. Cr2t
Cc. Mn?* D. Fe2t
E. Sc3t '
Choose the most appropriate answer from the
options gl:lfeg below: : s
(1) Aan only B and C only
(3) AandD only @ B and D only
The reagents with which glucose does not react
to give the corresponding tests/products are
A. Tollen’sreagent B. 'Schiff’s reagent
C. HCN - D. NH,OH
E. N&HSO?,
~ Choose the correct optiens from the given below:
(1) AandD @ B and E '
(3) EandD ) BandC
Match List I with List IL.
List T (Reactions) List IT (Reagents/
Condition)
.0
A (O -2 Fo I I\Cv
Anhyd.AlICl,
0 .
5. Q-0F L@ I Cro;
OH 0
c O7-0Y 1. KMnO,/
KOH, A
CH,CH; -
D. IV. (i) O
COOK -
(ii) Zn-H,0

Choose the correct answer from the options given
below:

A-III, B-1, C-1I, D-IV

A-1v, B-I, C-1I, D-111

A-1, B-IV, C-11, D-III

A-1V, B-I, C-111, D-II

77

78

79

80

19

Ul | V3L i
Gif | el ‘Nc::r::’,n:;
{&‘fﬁﬁfl‘:r'ﬂ'l[ LES D (31175 @ot)
Aomy L aweda migfs
B. m, I " e
C. | ; I DRLAA AN
D . #wisq BB
: V. Brashrerg ejorm
fae3
it s i}‘‘f"s'q"'_l.f"‘f'l L AT a4 Frag 416 5
(1) A-lL, B-1V, C-1, D-f| N
(2) A-IL B-1V, C-11, D-I
(3) A-IL, B-I, C-1V, D-II1
(4) A-I, B-III, C-II, D-1V
MG @1t e ‘geferna’ Sl g we
oifige?
A. T3t B. Cr?*
C. Mn?* D. Fe?*
E. Sc3*
M6 BS Pidesqfin (10 S1A1fUa mar Tsafs Rreisa
F4
(1) v Ag:E (2) @=sie Bua: C
Q) @wemw Aw4:D (4) @=EWw Baas D
A P o wee e Pl st e e S
=361/ Fesim =y &l
A, ‘S EsEs B. Piwa s
C. HCN D. NH,OH
E. NaHSO,
Aee e Paessgfd s AR Raest Rrateea 4.
(1) @@ Aad: D (2) &4«31g Buat E
3) e EvtD (4) @==moBaa: C
ot 1 ad st eif#=1 [ tyeng
ottt 1 eiftr#r 11
(=) (Fera+/TRs)

. ‘ 0
A OO-:r0 L O

@iEg AlCHy
0
B 0=’ 0 u oo,
OH o
Q- lIL. KMnO/
o KOH, 4
| CH,CH
p. & 77> IV. ()0
COoK (i) Zn-H,0

Mis 2175 ety (e s I Rratser 30
(1) A-lI, B-, C-II, D-1V

(2) A-1V, B-l, C-l1, D-llI

(3) A-lL B-1V, C-ll, D-1lI

(4) A-LV, B-1, C-III, D-ll
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81

82

83

84

85
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o 0w >

o the following clements in increasing
ran ! i
:'}rltlcl' gl'clcciﬂmn:gnlwn) :

), I Co ot . | .
Ejf,ufwc {he correct answer from the options given
below: ' )

N Si<C<O<N<F
@) O<F<N<C<Si

fff F<O<N<C<Si

Si<C<N<O<F

Match List 1 with List 11.
List 1

List 11
(Molecule)

(Number and types of
bond/s between two
carbon atoms)

l.  one o-bond and
two m-bonds

two m-bonds

one ¢ -bond

ethane

1L
I1.

ethene
carbon
molecule, C,

ethyne IV. one o -bond and

one w-bond

Choose the correct answer from the options given

below:

1) A-IV, B-I11, C-11, D-1
A-IIL, B-1V, C-11, D-1
) A-IL BV, C-L, D11
@) A, B-1V, C-11, D-I11
Arrange the followin
order of first ionizatio
Lig Be’ B3

Li<B<Be<C<N
Li<Be<C<B<N
(3) Li<Be<N<B<(C
(4) Li<Be<B<C<N

g elements in increasing
n enthalpy:

Which one of the following alcohols reacts
instantaneously with Lucas reagent?

(1) CH,-CH,- CH-OH
CH,

(2 cn,- CH —CH,0H
CH

CH

i 3
@ cr,-t-on
|
N

3

CH
(4) . CH,-CH, -CH, - CH,OH

‘Activation energy of any chemical reaction can

be calculated if one knows the value of .

(1) probability of collision.

(2) orientation of reactant molecules during
collision.

@ rate constant at two different temperatures.
rate constant at standard temperature.

81

82

83

84

Olye MWHGI Gsraa Adepiea w4 gif)sgme

N, O, F, C, Si ’ 14 e,
Miki 1 Caaosign oo1ns 3154 Gad imm 2
() Si<C=0=<N<F '
(2) O<F<N<C=<S;j

) F<O=N=C-~5i

4) Si<C=N-O<F

Gtfdat [ ad s oifd41 11 caragig

e | a1 1]

(@19) (901 A1401 1431144 3143
A=A e g wgit)

A. AurE . a#fb G-qaap o

GBI -y

B. R Il &1 q-qeman

C. #1a M. e G-4=ap

: a9 ,C,

D. Zaza IV. aaf6 -4 v

a#f% 1 -qeme)

N6 o473 FA=194R1 (aF ARS G4 Riding 5y :

(D

85 -

20

(1) A-IV, B-III, C-II, D-I
(2) A-NI, B-IV, C-I, D-I
(3) A-IIL, B-IV, C-I, D-TI
(4) A-L B-1V, C-II, D-II

HAN F1NaA QeAAMrEHd GHFn s Nisy ety

ArETG : '

Li, Be, B, C, N

e 275 Fw=styfé (s ads Sod Rise .
Li<B<Be<C<N

(2) Li<Be<C<B<N

(3) Li<Be<N<B<C

(4) Li<Be<B<C<N

B AFae -ﬁm AN @1 BN HTRE Pty
A w2

(1) cH,-cH,- (EH—OH

CH,
@) cn,;- CH-CH,0H
CH,
i\
(3) cH,- C-OH
CH,

(4) CH;-CH,-CH,-CH,0H

R 3E Sete @3S At Rifmug s SR R
F31 NN '

(1) wse g

(2) 1w ssniaNe P oty Renm

(3) 4t Rezt wIsEIN R A w4

(4) =AM GIsnEIN R s gl
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Chemistry ¢ Section-B (Q. No. 86 to 100) |

identify the correct answer.
8¢ 1) BF3has non-zero dipole moment. RO idt aratn a0 Al

2 Dipole moment of NF, is greater than (ha (1) BEy @i teaongag mps _
of NH. ' (2) NI, g oy ]‘," AR TN g1 41000
Three canonical forms can be drawn [or 3 . ; HIAENEY a4 Tt gypagg .4 M 4224
co‘;" ion. ) (:‘_(’3 AL AL AN oty 1012015014, sgapsg

4) Three resonance structures can be drawn for ) N Nl
ozone. GEMEL tAR Roetfls tegentn w301 wigg sy

N "y . . . 87 s
The pair of lanthanoid ions which are diamagnetic PR olet- oy Rodimis)rafy

§7 (1) Ce¥* waEy2+ 3
“; Ce3tand Eu2* Gd3* and Eu3* (3) Pm3* @i §mI+ (i)' Gd4: o By
(3) Pm3*and Sm3* Ce?* and Yb2Z* @) Celttaae vt
88  ©Is1IwI 27°C ti# 57°C « 4o eot @ i
s8 The rate of a reaction quadruples when S Gl s s st iy Ry 4l
" temperature change; from 27°C to 57°C. (@ R =8.314 J K~! mol-!, log 4 = 0.6021)
Calculate the energy of activation. 1) 3804 ’ '
Given R =8.314 J K~1 mol-1, log 4 = 0.6021 8 P gg e
(1) 380.4kJ/mol  (2) 3.80kJ/mol g e
(3) 3804KJ/mol  ((4)) 38.04 kJ/mol 89 s Pafeway
: . C= CH KMnO,/H* p*
g9  For the given reaction: . O_ PII D—“> (major
O’C:CH KMnO,/H ‘p: ’ product)
T e T
produc
Pis (1) ( )—CooH
@ ( )—CoOoH ?H OH
. : ]
?H (I)H a _ ) O—CH—CH_O
@ O—CH-—CH < ||C|) ﬁ)
00 - e (O
(3) O—C-C @ ( )—CHO
@) O’CHO ‘ | 90 25°C wrstaig a garer mRwICER A 20 AFEN
90 The work done during reversible ‘isothermal 5191 (e 10 Agarewdy Gttt SO A s
» SS1fAE FECe FoSIxA sAfaAe TN

expansion of one mole of hydrogen gas at 25°C
from pressure of 20 atmosphere to 10 atmospherfe

18:

(#75 R =2.0 cal K1 mol™1)
(1) —413.14 FEfy

@en R =2.0 cal K~ mol1) N ©(2) 413.14 #rEfy
—413.14 calories . _
413.14 calories - | @ 100w
(3) 100 calories s (4) =y FmEfy
") Ocalorie ' ' 91  Muwa Rl (aw 270 B A adz B
91 Th ined in the followin AT
e products A and B obtained in the follo g‘ 3ROH + PCl,>3RCI + A

reactions, respectively, St -
s A ROH + PCI; »RCl + HCl + B

3ROH + PCl;-53RCI+A
ROH + PCI;RCI + HCIl + B (1) POCIy w3 H3PO,
(21) POCly'and H;PO, (2) H;PO, @t POCly
(2) H;PO, and POCl, _ (3) H;PO; was POCL
H3PO; and POCI - o e T
RG—Be“gali"'English ] 21 [ Contd...
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92

93

94

95

9%

R6_Bengali+English |

ertain cations. Using inorganic

iven below arc ¢ ing ‘
cc|}1:alitativc analysis, arrange them n increasing

number from 0 to VL
AR B

C. BaZ*
E.
Choose the correct answer

'

(1) B,C,A,D,E

(3) E.A,B,C.D

The plot of osmotic pressure (IT )vs goncqntratlpﬂ
(mol L-1) for a solution gives a straight line wit
slope 25.73 L bar mol~!, The temperature at which
the osmotic pressure measurement is done 1s:
(Use R = 0.083 L bar mol-! K™

(1) 310°C 25.73°C

. Cu?*
D. Co?*

from the options given

E, Cg D, B'!A
B,A,D,C,E

3) 12.05°C 37°C

A compound X contains 32% of A, 20% of B and
remaining percentage of C. Then, the empirical
formula of X is : '
iven atomic masses of A= 64; B=40; C=32u)
ABC, (2) AB,C,
ABC, (4) ABC;

Major products A and B formed in the following
reaction sequence, are

OH
H,C .
L.
3,

- ale. KOH '
A ——— B
(major) (major)

H;

@ a-

During the preparation of Mohr’s salt solution -
(Ferrous ammonium sulphate), which of the |
following acid is added to prevent hydrolysis of
Fe2* ion? '
(1) concentrated sulphuric acid
(2) dilute nitric acid
%31? dilute sulphuric acid

dilute hydrochloric acid

22

92

93

94

95

96

Mt w410 BB AR08 g,
3

anfear g5t Aerst 0 0104 VI gq ?:wm}-.t e Ty

A, AP B. g M h.r..‘,:”
C. Ba** D. o2 i
E. Mgt

Mt o 751905 000 054 iy

(H B,C, ADE  (2) ¢ C D-n;:;,; 4q

(3) E, A, B, C, D (4) [; A. D! (1,2

a=f% gAt1d SFAN B151 (17 ) 4oy, o

o 570
teruifb® DA TR A 31404, oy (mey
s1ftst 341 25.73 L bar mol=! 45 6"""61;: :m B,

S Mg,

sf3r1s1 FA1 ZACE O 23
(A= R = 0.083 L bar mg|-! K"])
(1) 310°C @) 2573
(3) 12.05°C 4) 379¢

X anag @3S &Nt 32% A 200,

]

B aq: o
moiet C A= X OF 3203 Aeig 2y . R 0
(a7s A 93 AFAHS vy = 64; B = 40. Cy
(1) ABC; @ ABgc, Y
(3) ABCy 4) A,BC,
dee oS FAIEIST Jar SesmA gq. g -
" OH
H,C -
(major) (majr)
Br

M a- ; B=

OH

Hy Br HC I
@) a- 2t \0
N ’ 0

) a- pe
Br
Hy H;C
T eltae

GTTER 9o Rretse (ediot oincnRiE s
WM SHRITING @Iy IS A6 Fl M
e B4’ ?

(1) =i AEFEeEs anthe

(2) =g mRfGs vy

(3) =1y YT Tk

(4) =g R sk

[ Coulljm
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97  Consider the following reaction in a sealed vessel
at equilibrium with concentrations of
N,=3.0x103M,0,=42x 103 Mand
NO=28x103 M.

= O
2No(g) N2(3) Pe) _
1£0.1 mol L-! of NOy, is taken in a closed vessel,

what will be degree of dissociation (a) ofNO(g)
at equilibrium?

f l f 0.0889

0.717
98 Identify the major product C formed in the
following reaction sequence :

CH,~CH, -CH, - 2N,

(2) 0.8889
(4) 0.00889

OH~ ,p_NaOH
Partial hydrolysis ., 7
artial hydrolysis Br2 (major)
(1) butylamine
(2) butanamide

o — bromobutanoic acid.

3
' propylamine

99  Mass in grams of copper deposited by passing
9.6487 A current through a voltmeter containing
copper sulphate solution for 100 seconds is:
(Given : Molar mass of Cu : 63 g mol™!,

=96487 C)
0315 g
0.0315 g

Given below are two statements :

(2) 31s5¢g
4) 3.15g

100

: 3+ .
Stafement I : [CO(NH3)6-] is a homoleptic

+
" complex \vhereas_[Co(NH3)4ClzJ is a

“heteroleptic complex.

3+
Statement II : Complex [Co (NH3 ) 6] has only

0 . +
One kind of ligands but [CO(NH3)4 Clz] has

More than one kind of ligands.

In the light of the above statements, choose the
correct answer from the options given below:

Both Statement I and Statement II are false.

2) Statement I is true but Statement I1 is false.

Statement | is false but Statement II is true.

@ Both Statement I and Statement II are true.

RG‘Be"BalHEnglish ] 23

97

98

99

100

Qe AGD e 39 wis a3fb engsy s
RIALIAA AUBBHAYCRA W1 .
N, =3.0x 103 M, 0,=4.2x 10-3 M a4z
NO=28x 103M.
2 =N +0

NO(e) = Ma(e) * o)

qfi aalb 4w sg 0.1 mol L-! NO g Nt &N

A NO g @i Reset gt (a) #o m?

(1) 0.0889% (2) 0.8889
(3) 0.717 (4) 0.00889

sy s 2Fe gur Bestm C bies 4 ¢
CH,-CH, —CH, ~1—2CN, 4

OH NaOH C

Partial hydrolysis =~ . Br2 (maj or)

(1) rEHEeRsene

(2) FESBIEmIBY

3) oa-—-@nmlESsERE onbiv
@) = Rstemne

I AHEHTG F40 HIE aRe B @Ifehitny
100 witsy sty 9.6487 A ofye sudieEn =ter AMG
BIATY #HIYW WS 99

(75 : Cu a3 ®f4+ @4 : 63 g mol-!

IF = 96487 C) |
(1) 0315¢ (2) 315g
(3) 0.0315g (4) 3.15g

MNes g Pyl g :

3+
i [cH [CO(NH3)6] . uaf® eifgmisema wiba

: +
Gl g [Co(NH3)4C12:| az(B Rewtsieesers
eif®et ¢l

3+
PR II: [CO(NHS)G] wiba LMy uF wAeEs

- +
AEEE ATHCE YIS [Co(NH3) " CI2] ¥l aF

. uEEE & A Qescs]

T gl sgeRa sues e was e
TS A T Riatse '

(1) PR T a3 PRl 11 Sew® ga

(2) Pl [afds g R 11 ga

(3) Pfs [ge frg faqls [ als

@) By | a3 Rl [19wwR 90
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